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Year | Block 6 Unit: Place Value up to 50.
Key Viocabulary:
thirty forty Fifty mosre less greater than
less than partition estimate Jrj,gh,t left
What will I know hy the end .of this unit?
Counting up to 50:
| 2 3 A 5 6 7 8 q 10
] 12 13 |4 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
4| 42 43 L4 45 L6 L7 48 L9 50
Groups of tens .and ones: Partition into tens .and .ones:

H,ONVWJZ"O’QA? ‘B
% ¥\ & |
&
r 7 ’ : @ °

There are 4 tens. There .are 5 .ones.

There are 3 gro. of ten fro.
mdhgrfnﬁﬁ}rigﬁ. Froge

There are 34 frogs in total. The rwmber is 45.

Number line to 50: Estimate on o numhber to 50:
Drow .an arrow to 28 .on the number

Complete the number line.
Line,

Y I Y Y I A N I
T T T T 1 11T 1
30 31 32 33 34 35 36 37 38 39 40| | | |

| 1 | !
20 28 30

The first numhber on the number line is 30

The last number .on the number line is 40 HJGJ&W»GQ.J/S. 25,
The number line is going up in ls. 28 Jﬁiﬂﬂlﬁf%ﬁihﬂ%ﬂg

One more and one less: Weite sera. ko pill in Bhe
bhoxes.




